La multiplication

_______ n_h_'.ll_'.l',_'l_ d n:10 L nx0,2 n:s
1750x0,1=1750:10=175 |  175x02=175:5=35
______!'l_x_ﬂ_,[!'l > n: 100 | nx 20 (nx10)x 2
1750x0,01=1750:100=175 || 175x20=(175x10)x2=3500
n x 0,001 > n: 1000 nx 200 (nx100)x 2
_______ 1750% 0,001 =1750: 1000=1,75 ||  175x200=(175x100)x2=35000 |
nx9 =2 (nx10)—(nx1) nx11 =2 (nx10)+(nx1)
_______ 25x9=(25x10)—(25x1)=225 ||  25x11=(25x10)+(25x1)=275
L nx ?9 _____ —_}_ ) (nx100)~(nx10) || n _x_‘l_U_‘I _____ > _{_n_x_'I_DFI]I_-I: {_n_x_'l_]l_ )
25x90=(25x100) —_I:E_b_x_'l_ﬂ_] ;_ET?E:{S _____ 25101 =(25x100) + (25 % 1) = 2525
nx 99 - (nx100)=(nx1) | |J§_1PEI"|_____—_}___I[H)<“IDGIG}I+{n>-:1]
[ 25x900 = (25x 1000)~ (25 x 100) = 22500 ||  25x 1001 = (25 x 1000) + (25 x 1) = 25 025
_______ n x 990 2 (nx1000)=(nx10) . nx1010 < (nx1000)+({nx10)
25x 990 = (25 x 1000) - (25x 10) =24 750 || 25x 1010 = (25 x 1000) + (25 x 10) = 25 250
nx 999 > (nx1000)-(nx1) || nx1100 > (nx1000)+ (nx100)
[T 254999 = (25% 1000)— (25 x 1)= 24975 || 25x1100 = (25 x 1000) + (25 x 100) = 27 500 _
_______ nx09 3> ()01 || nx011 > (1x01)+(0x00)
25x09=025x1)—-(25x0,1)=22,5 N 25:{@,‘11={25xﬂ,1}+{25ﬂﬂ',ﬂ'1i;-2,-?%---
nx99 s (nx10)—(nx0,1) nx1,1 N nx1)+(nx01)
_____ 25x9,9 = (25x10)- (25x0,1)=2475 ||  25x1,1=(25x1)+(25x0,1)=275 |
nx 0,25 2> nd nx0,5 > n:2
___________ 12x025-12:4=3 || 12x05=12:2=6 |
_______ nx25 > (nx10):4 ~ nx5 > (nx10):2
12x25=-(12x10):4=30 || 12x5=-(12x10):2=60 |
nx25 S (nx100):4 || nx50 > (nx100):2
[ 12x25=(12x100):4=300 | 12x5 =(12x100): 2 = 600 *
nx 250 > (nx1000):4 || nx500 . > (nx1000): 2
| 12x250=(12x1000):4=300 | 12x500=(12x1000):2= 600 |




La division

_______ n:01____ 2 _____.mx10 ] n:02 x5
180:01-180x10=1800 || 7 180:02=180x5=900 |
n: 0,01 = nx 100 n:20 = (n:10):2
L 180:0,01-180x100=18000 || 180:20-(180:10):2-9 |
______ ri_ﬂ_,l'.lﬂj_____—)_______n_x_1_DP{_]______ n: 200 - {n:100):2

n:025 nx4 ‘ n:05 nx2
________ 1500:0,25-1500x4=6000 | |  1500:0,5-1500x2=3000 |
_______ n:i25 > :lOx4 0 mS o > nad0x2
1500: 2,5 = (1500 : 10)x 4 = 600 15001 5 = (1500 : 10) x 2 = 300
_______ n:25 > _n:1000x4 p | miS0_ > (n:100)x2
1500 : 25 = (1500 : 100) x 4 = 60 1500 : 50 = (1500 : 100) x 2 = 30
_______ n:250 > (n:1000)x4 n:500 (n: 1000) x 2

1500: 250 =(1500:1000)x 4 =6 15000:500=(1500:1000)x2 =3




